PIK. 328,00

Skala pionowa 1:100
Skala pozioma 1:100

Pole pow.  WYKOP =0,00m2

Polepow.  NASYP=1,18m2

Pole pow. HUMUS ISTN. =0,30m2

PP.= 146,00m

RZEDNE PROJEKTOWANE 5 o= 03 5 5 =3
RZEDNE SPODU s = = o 2

PROJ. NAWIERZCHNI 5 = Z z =

RZEDNE TERENU = g = s = 2
ODLEGLOSCI

PIK. 338,30

Skala pionowa 1:100
Skala pozioma 1:100

Polepow. ~ WYKOP =0,00m2
Polepow.  NASYP=1,03m2

Pole pow. HUMUS ISTN. = 0,38m2

P.P. = 146,00m

RZEDNE PROJEKTOWANE =Y = X 5 & ==
RZEDNE SPODU s = - o 2
PROJ. NAWIERZCHNI = o = = @
RZEDNE TERENU 5 25 5 5 g
ODLEGLOSCI
35 & £8% = 5 S8




